

# CLASS Initiative Study Questions (Q18-21) September 30<sup>th</sup>, 2010

#### **Highlights:**

- No students from the Fall 2006 cohort completed a certificate (requiring 30 or more units) within 3 years (0 out of 1,195).
- Only 2.85% (34 out of 1,195) of the cohort received an Associate's degree within three years.
- ❖ Those from the 06 cohort who took basic skills/pre-collegiate courses obtained a degree at a higher rate than those who did not. These rates were still extremely low 5.5% or 32 out of 582.

#### **Class Cohort Definition**

A CLASS cohort student is any student whose first term in college is in fall 2006 and meets one of the three conditions below. These students will be tracked through spring 2009 so the study period is from fall 2006 through spring 2009.

- I) A student with at least one pre-collegiate credit or non-credit enrollment in English, reading, or math in fall 2006. They may have collegiate enrollments as well.
- 2) A student with at least one pre-collegiate credit or non-credit enrollment in English, reading, or math after fall 2006 up to and including spring 2009. They may have collegiate enrollments as well.
- 3) Students with no pre-collegiate enrollments from fall 2006 through spring 2009.

### Query 18: What is the number and percentage of entering cohort students who completed a certification within 3 years?

Count	Percent				
None	None				
1,195	100.00%				

### Query 18: What is the number and percentage of entering cohort students who completed a certification within 3 years (Disaggregated by gender and ethnicity)?

		Count	Percentage	
		None	None	
A 5 A	Female	П	100.00%	
African-American	Male	19	100.00%	
	Female	15	100.00%	
Asian	Male	15	100.00%	
	Unknown	I	100.00%	
	Female	75	100.00%	
Decline to state	Male	31	100.00%	
	Unknown	2	100.00%	
Filining	Female	9	100.00%	
Filipino	Male	7	100.00%	
	Female	318	100.00%	
Hispanic	Male	245	100.00%	
	Unknown	4	100.00%	
Native American	Female	3	100.00%	
Native American	Male	I	100.00%	
Other	Female	П	100.00%	
Other	Male	5	100.00%	
	Female	3	100.00%	
Pacific Islander	Male	4	100.00%	
	Unknown	l	100.00%	
Unknown	Female	34	100.00%	
Olikilowii	Male	H	100.00%	
	Female	230	100.00%	
White	Male	195	100.00%	
	Unknown	4	100.00%	

# Query 19: How does the certificate completion rate compare for Collegiate-ready students vs. students who enrolled in Pre-Collegiate/Basic Skills courses?

	Count		Percent				
Not Pre- Collegiate				Pre-Collegiate after fall 2006	Pre-Collegiate fall 2006		
None	None	None	None	None	None		
581	111	503	48.62%	9.29%	42.09%		

Query 19: How does the certificate completion rate compare for Collegiate-ready students vs. students who enrolled in Pre-Collegiate/Basic Skills courses (Disaggregated by gender and ethnicity)?

			Count		Percent					
		Not Pre- Collegiate	Pre-Collegiate after fall 2006	Pre- Collegiate fall 2006	Not Pre- Collegiate	Pre-Collegiate after fall 2006	Pre- Collegiate fall 2006			
		None	None	None	None	None	None			
African-	Female	3		8	27.27%		72.73%			
American	Male	2	6	П	10.53%	31.58%	57.89%			
	Female	9		6	60.00%		40.00%			
Asian	Male	5	4	6	33.33%	26.67%	40.00%			
	Unknown			I			100.00%			
D 1 4 -	Female	71	I	3	94.67%	1.33%	4.00%			
Decline to state	Male	24	I	6	77.42%	3.23%	19.35%			
	Unknown	2			100.00%					
Filipino	Female	3	I	5	33.33%	11.11%	55.56%			
Filipilio	Male	I	2	4	14.29%	28.57%	57.14%			
-	Female	152	22	144	47.80%	6.92%	45.28%			
Hispanic	Male	107	17	121	43.67%	6.94%	49.39%			
	Unknown	3		I	75.00%		25.00%			
Native	Female	I		2	33.33%		66.67%			
American	Male			I			100.00%			
Other	Female	2	4	5	18.18%	36.36%	45.45%			
Other	Male	2		3	40.00%		60.00%			
D :C	Female	I	I	I	33.33%	33.33%	33.33%			
Pacific Islander	Male	I		3	25.00%		75.00%			
	Unknown	I			100.00%					
Unknown	Female	33		I	97.06%		2.94%			
	Male	8	I	2	72.73%	9.09%	18.18%			
	Female	121	27	82	52.61%	11.74%	35.65%			
White	Male	76	25	94	38.97%	12.82%	48.21%			
	Unknown	I	I	2	25.00%	25.00%	50.00%			

# Query 20: What is the percentage of entering cohort students who completed an associate degree with 3 year?

Distinct Student	Count	Term Enrollment Row Percent					
Associates Degree	None	Associates Degree	None				
34	1,161	2.85%	97.15%				

# Query 20: What is the percentage of entering cohort students who completed an associate degree with 3 year (Disaggregated by gender and ethnicity)?

		Distinct Student		Term Enrollment R	low Percent
		Associates Degree	None	Associates Degree	None
African-American	Female		П		100.00%
Airican-American	Male	I	18	5.26%	94.74%
	Female		15		100.00%
Asian	Male	I	14	6.67%	93.33%
	Unknown		I		100.00%
	Female		75		100.00%
Decline to state	Male	I	30	3.23%	96.77%
	Unknown		2		100.00%
Filipino	Female		9		100.00%
	Male	2	5	28.57%	71.43%
	Female	5	313	1.57%	98.43%
Hispanic	Male	3	242	1.22%	98.78%
	Unknown		4		100.00%
Native American	Female		3		100.00%
Native American	Male		I		100.00%
Other	Female	I	10	9.09%	90.91%
	Male	2	3	40.00%	60.00%
	Female		3		100.00%
Pacific Islander	Male		4		100.00%
	Unknown		I		100.00%
Unknown	Female		34		100.00%
	Male	I	10	9.09%	90.91%
	Female	8	222	3.48%	96.52%
White	Male	10	185	5.13%	94.87%
	Unknown		4		100.00%

# Query 21: How does the associate degree completion rate compare for Collegiate-ready students vs. students how ever enrolled in Pre-Collegiate/Basic Skills courses?

Count						Percent						
Not Pre- Pre-Collegiate after Collegiate fall 2006						Pre-Collegiate after fall 2006		Pre-Collegiate fall 2006				
Associates Degree	None	Associates Degree	None	Associates Degree	None	Associates Degree	None	Associates Degree	None	Associates Degree	None	
2	579	8	103	24	479	0.17%	48.45%	0.67%	8.62%	2.01%	40.08%	
% of the subgroup who obtained a degree					.34%		7.21%		4.77%	.34%		

Query 21: How does the associate degree completion rate compare for Collegiate-ready students vs. students how ever enrolled in Pre-Collegiate/Basic Skills courses (Disaggregated by gender and ethnicity)?

1 2 30		Count						Percent						
		Not Pre- Collegiate	•	Pre-Colle		Pre-Colle fall 2006	giate	Not Pre- Collegiate	egiate after fall 2006		giate 2006	Pre-Collegiate fall 2006		
		Associates Degree	None	Associates Degree	None	Associates Degree	None	Associates Degree	None	Associates Degree	None	Associates Degree	None	
African-	Female		10				74		27.27%				72.73%	
American	Male		3		118	28	177		10.53%		31.58%	5.26%	52.63%	
	Female		30				86		60.00%				40.00%	
Asian	Male		20		72	22	44		33.33%		26.67%	6.67%	33.33%	
	Unknown						6						100.00%	
- "	Female		265		4		46		94.67%		1.33%		4.00%	
Decline to state	Male		86		6	22	40		77.42%		3.23%	3.23%	16.13%	
	Unknown		2						100.00%					
Filipino	Female		30		16		155		33.33%		11.11%		55.56%	
Тіпріпо	Male		I	32	12	34	35		14.29%	14.29%	14.29%	14.29%	42.86%	
	Female		691	28	353	134	2,509		47.80%	0.31%	6.60%	1.26%	44.03%	
Hispanic	Male		519	30	248	63	1,659		43.67%	0.41%	6.53%	0.82%	48.57%	
	Unknown		4				П		75.00%				25.00%	
Native	Female		2				34		33.33%				66.67%	
American	Male						16						100.00%	
Other	Female		5	28	64		71		18.18%	9.09%	27.27%		45.45%	
Ctrici	Male		16			56	2		40.00%			40.00%	20.00%	
D:C-	Female		2		20		П		33.33%		33.33%		33.33%	
Pacific Islander	Male		5				33		25.00%				75.00%	
	Unknown		4						100.00%					
Unknown	Female		115				10		97.06%				2.94%	
	Male		22		9	2	6		72.73%		9.09%	9.09%	9.09%	
	Female	9	725	55	408	134	1,060	0.43%	52.17%	0.87%	10.87%	2.17%	33.48%	
White	Male	21	586	44	384	204	1,215	0.51%	38.46%	1.03%	11.79%	3.59%	44.62%	
	Unknown		6		I		16		25.00%		25.00%		50.00%	